

In P= In Po + In ake

Inp=lnpo+kt , where K=gradient

(that In Pagainst t.)

In Po = vertical intercept

t (years)	0	5	10.	15
en p	0.693	0.892	1.10	1.29

when t=20 (year 2015), In P=1.5

2i)
$$(1-2\pi)^2(1-px)^6 = (1-4\pi+4\pi^2)[1^6+6(1^5)(-px)+15(1^4)(-px)^2+...]$$

$$= (1-4\pi+4\pi^2)(1-6px+15p^2x^2+...)$$

$$= ...+4\pi^2+24px^2+15p^2x^2+...$$

$$4 + 24p + 15p^{2} = 16$$

$$15p^{2} + 24p - 12 = 0$$

$$5p^{2} + 8p - 4 = 0$$

$$(5p - 2) \cdot 4p + 2 = 0$$

$$p = \frac{2}{5} \quad \text{of} \quad p = -2$$

ii) When
$$p = \frac{2}{5}$$
, $T_{\psi} = {6 \choose 3} (1)^3 (-\frac{2}{5} \times)^3$

$$= 20 \left(-\frac{8}{125} \times ^3 \right)$$

$$= -\frac{32}{25} \times ^3$$
Coeff. of $x^3 = -\frac{32}{25}$

$$= -1\frac{7}{25}$$
When $p = -2$, $T_{\psi} = {1 \choose 2} (1)^2 (236)^3$

= 160 x3

(outto of x3 = 160 g

3i)
$$Cossn=cos(2x+x)$$

= $Cos 2x cosn-sin xx sin x$
= $(1-2sin^2x)(cosn)-(2sin xx cos x)(sin x)$
= $Cos x - 2cosn sin^2x - 2sin^2x cos x$
= $cos x - 4sin^2x cos x$
= $cos x (1-4sin^2x)$

11)
$$2 \cos 2\pi = 15 \sin \pi \cos \pi$$

 $2 \cos 2\pi \left(1 - 4 \sin^2 \pi \right) - 15 \sin \pi \cos \pi = 0$
 $\cos 2\pi \left(2 - 8 \sin^2 \pi \right) - 15 \sin \pi \right) = 0$
 $\cos 2\pi = 0$ $= 2 - 8 \sin^2 \pi \right) - 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 8 \sin^2 \pi \right) + 15 \sin \pi = 0$
 $2 - 10 \cos^2 \pi \right) + 15 \sin^2 \pi$

4i)
$$\forall +\beta = -2$$

 $\forall \beta = 5$
 $((\alpha + \beta)^2 - 3\alpha\beta)$
 $= (-2)[(-2)^2 - 3(5)]$
 $= 22$

$$\frac{11}{\beta^2} + \frac{\beta}{\alpha^2} = \frac{\chi^3 + \beta^3}{\chi^2 \beta^2}$$

$$= \frac{22}{5^2}$$

$$= \frac{22}{25}$$

$$\frac{\cancel{x}}{\cancel{\beta}^2} \times \frac{\cancel{\beta}}{\cancel{\alpha}^2} = \frac{1}{\cancel{\alpha}\cancel{\beta}}$$

$$= \frac{1}{5}$$

Equation:
$$\chi^2 - \frac{21}{25}\chi + \frac{1}{5} = 0$$

 $25\chi^2 - 22\chi + 5 = 0$

5i) Let
$$\angle PBA = x^\circ$$
.

$$\angle ACB = x^\circ (As \text{ in alt. Segment})$$

$$\angle DBC = x^\circ (isos. ABBC)$$

$$\angle CDB = 180^\circ - 2x$$

$$\angle ADB = 180^\circ - (180^\circ - 2x) \qquad (As \text{ on a 4r. line})$$

$$= 2x$$

$$\angle PAB = x^\circ (isos. APAB; tangent from an ext. pt.)$$

$$\angle APB = 180^\circ - 2x$$

$$\therefore \angle APB + \angle ADB = 180^\circ - 2x + 2x$$

$$= 180^\circ \qquad (shown)$$

$$6i) \frac{dy}{dx} = (x-2)(3)(2x-5)^{2}(2) + (2x-5)^{3}(1)$$

$$= 6(x-2)(2x-5)^{2} + (2x-5)^{3}$$

$$= (2x-5)^{2} \left[6(x-2) + 2x-5\right]$$

$$= (6x-12+2x-5)(2x-5)^{2}$$

$$= (8x-17)(2x-5)^{2}$$

ii)
$$\frac{dy}{dx} < 0$$

$$\therefore (8x-17) (2x-5)^2 < 0$$

Since
$$(2x-5)^2 \ge 0$$
 for all values of x .

$$8x-17 < 0 \quad \text{for } \frac{dy}{dx} = 0 \text{ to hold}.$$

$$x < 2\frac{1}{8}$$

when
$$x=3$$
, $\frac{dy}{dx} = \left[8(x) - 17\right] \left[2(3) - 5\right]^2$

$$= 7$$

$$\frac{dy}{dt} = \frac{dx}{dy} \times \frac{dy}{dt}$$

$$= \frac{1}{7} \times 0.35$$

= 0.05

$$iv) \frac{\partial z}{\partial y} = 2y$$

$$= 2(x-2)(2x-5)^{2}$$

$$= 2(3-2)(6-5)^{3}, \text{ when } x=3$$

$$= 2$$

$$\frac{\partial z}{\partial t} = \frac{\partial z}{\partial y} \times \frac{\partial y}{\partial t}$$

$$= 2 \times 0.35$$

$$= 0.7$$

$$\frac{\partial z}{\partial t} = k(\frac{\partial y}{\partial t})$$

$$0.7 = k(0.35)$$

$$k = 2$$

$$\frac{\partial z}{\partial t} = 2 \frac{\partial y}{\partial t} \text{ when } x=3. \quad (shown)$$

7i)
$$2^{2x-1} = 2^{x+2} - 6$$

 $(2^{x})^{2} \cdot \frac{1}{2} = 2^{x} \cdot 4 - 6$
 $\therefore \frac{u^{2}}{2} = 4u - 6$
 $u^{2} - 8u + 12 = 0$

ii)
$$(u-6)(u-2)=0$$

 $u=6$ or $u=2$
 $\vdots 2^{n}=6$ $2^{n}=2$
 $0=\frac{1}{1}$ $0=\frac{1}$ $0=\frac{1}{1}$ $0=\frac{1}{1}$ $0=\frac{1}{1$

111) Let
$$y=2^{x}$$
.

$$2^{2x-1}=2^{x+2}-k$$

$$\frac{u^{2}}{2}-4u=-k$$

$$u^{2}-8u+2k=0$$

$$D=(-8)^{2}-4(1)(2k)$$

$$=(4-8k)$$
When $D<0$, $64-8k<0$

$$k>8$$

8i)
$$f(3) = 3^{3} - 3(3)^{2} + 4(3) - 12$$

=0

$$(x-3) \text{ is a factor of } f(x)$$

$$x^{2} + 4$$

$$x-3 = x^{3} - 3x^{2} + 4x - 12$$

$$-) x^{3} - 3x^{2}$$

$$0 + 4x - 12$$

$$-) 4x - 12$$

$$0$$

$$\cdot \cdot \cdot +(x) = (x-3)(x^{2} + 4)$$

ii)
$$f(x)=0$$

 $\therefore (x-3)(x^2+4)=0$
 $x=3$ of $x^2=-4$ (rej.)

Since x2 cannot be negative, f(x)=0 only has I real roof (3).

8iii)
$$y=x^3-3x^2+4x-12+kx$$

$$\frac{dy}{dx} = 3\pi x^2 - 6x + 4 + K$$

when
$$K=1$$
, $\frac{dg}{dR}=3(1)^2-6(1)+4+K$

9i)
$$\frac{dy}{dx} = 3x^2 + 4x - 3$$

Gradient at A=
$$3(\frac{2}{3})^2 + 4(\frac{2}{3}) - 3$$

111) Total shaded area =
$$\int_{-2}^{0} (x^3 + 2x^2 - 3x) dx + \left| \int_{0}^{\frac{3}{2}} (x^3 + 2x^2 - 3x) dx \right|$$

$$= \left[\frac{x^4}{4} + \frac{2x^3}{3} - \frac{3x^2}{2} \right]_{-2}^{0} + \left| \left[\frac{x^4}{4} + \frac{2x^3}{3} - \frac{3x^2}{2} \right]_{0}^{\frac{2}{2}} \right|$$

$$= 0 - \left(\frac{16}{4} - \frac{16}{3} - \frac{12}{2} \right) + \left| \frac{4}{81} + \frac{16}{81} - \frac{2}{3} - 0 \right|$$

$$= 7\frac{1}{3} + \left| -\frac{34}{81} \right|$$

$$= 7\frac{61}{81} \text{ Units}_{4}^{2}$$

= 50 A

$$80 = 30e^{25t} + 20$$

$$e^{25t} = 2$$

$$25t = 2n2$$

$$t = \frac{2n2}{25}$$

iii) dist. between A LB =
$$\int_{0}^{\frac{1}{25}} (36e^{25t} + 200) dt$$

= $\left[\frac{30e^{25t}}{25} + 20t\right] \frac{4n^{2}}{25}$
= $\left(\frac{60}{25} + \frac{20kn^{2}}{25}\right) - \left(\frac{30}{25} + 0\right)$
= $1\frac{1}{5} + \frac{4kn^{2}}{5}$
= $\left(\frac{6+4kn^{2}}{5}\right)km$

$$|V| = \frac{dV}{dt}$$

$$= 30(25)e^{25t}$$

$$= 750e^{25t}$$

11i)
$$\chi^2 + y^2 - 4x - 2y = 95$$

 $\chi^2 - 4x + 2^2 + y^2 - 2y + 1^2 = 95 + 2^2 + 1^2$
 $(x - 2)^2 + (y - 1)^2 = 100$
Coordinates of $A = (2, 1)_{A}$
Radius = $\sqrt{100}$
 $= 10 \text{ units}_{A}$

Gradient of
$$AP = \frac{7-1}{10-2}$$

$$= \frac{3}{4}$$
Gradient of tangent at $P = -\frac{4}{3}$

$$= \frac{3}{4}$$
Equation: $y = -\frac{4}{3}x + c$
At point P , $7 = -\frac{4}{3}(10) + c$

$$c = 20\frac{1}{3}$$

$$\therefore y = -\frac{4}{3}x + 20\frac{1}{3}$$

iv) AP= 10 units
$$i$$
 radius= 5 units

Let centra of $(2 \text{ be } 0)$.

Coordinates of $0 = \left(\frac{2+10}{2}, \frac{1+7}{2}\right)$
 $= (6, 4)$

Equation of $(2: (x-6)^2 + (y-4)^2 = 25$

V) Equation of tangent to (2 at P:
$$y=-\frac{4}{3}x+20\frac{1}{3}$$